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Pythia settings
prompt photons

PromptPhoton:qg2qgamma = on
PromptPhoton:qgbar2ggamma = on
PDF:pSet= 15

BeamRemnants:primordialK Thard = 1.2

PhaseSpace:mHatMin = 0.
PhaseSpace:pTHatMin = 0.

Random:setSeed = on
Random:seed =0

minimum-bias

SoftQCD:all = on

PDF:pSet= 15
BeamRemnants:primordialKT = on
BeamRemnants:primordial K Tsoft = 1.1
BeamRemnants:primordialK Thard = 1.8
BeamRemnants:halfScaleForKT = 2.0
BeamRemnants:halfMassForKT = 4.0
BeamRemnants:reducedKTatHighY = 0.7
BeamRemnants:primordialK Tremnant = 0.4
PhaseSpace:pTHatMinDiverge = 0.5

PhaseSpace:mHatMin = 0.

PhaseSpace:pTHatMin = 0.
Random:setSeed = on
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sigma MB = 23.5 mb; Ed aldp”=C(1—xp)"/(pr/po)

sigma 29 =1.2e-3 mb;  with
L=10e32 s-1

Xp= (x'zr + (xp— x0)2)1/2

XT=2pT/]/; and p,=1GeV/c
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Backup
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